3.0 Basic Int

Basic Integration

Basic Rules (we us intuitively):

1. One basic integration formula states
J af (x)= aj f(.x)%ajf{x) = a[F(x)+¢]

Use the above formula to help integrate J-13x45dx e ’Il\) k
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2. Asecond integration formula states

Jx"dx: x_’”l

n+l

"

Hnd '

n

S
4
Use the above formula to help integrate Jx dx = _X
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3. A third integration formula states:

[re+s00= [r@+ [g00
Use the above formulas to help integrate I(2x2 —5x— 2x_3)dx
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Complete the following table

Function Integral (ignoring C)
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Examples: Use the integration techniques (sum and differences of functions) to evaluate:

1. Find the indefinite integral of J-(Sx2 - S)de
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2. Find the indefinite integral of J-(x% —4x+ ])afx
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3. Find the indefinite integral of j (% —6x* ) dx
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4. Find the indefinite integral of I(% +x }fx
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5. Find the indefinite integral of j[#}i{

6. Find the indefinite integral of I(s'mx + z]dx
x

Homework: Page 505 # 2
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Integration by Substitution/Comparison

Outcomes: Solve integration questions using the substitution or comparison technique

A
Expand the integral then solve I 1();{(5.752 - 3)2dx I O X {52 6 X 17( - ?)O X 4+ Q ]
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Reverse Chain Rule (Substitution & Comparison Technique)
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Examples:

Find the Indefinite Integrals of the following.

2) [25(x -3) ax b) [28¢(7x*-3) ar
c) J-(xl—S)stcfx d) J’ x i

-2
e) ‘[h;xdx f) J(2+Sinx]mcosxa‘x

Homework: Page 511 # 2,3
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